 EQ 8b\s\up8(3)-\b(2b-1)\s\up8(3)=13+12b\s\up8(2) 
 EQ 8b\s\up8(3)-\b(2b-1)\s\up8(3)-13-12b\s\up8(2)=0 
 EQ 8b\s\up8(3)-\b(8b\s\up8(3)-12b\s\up8(2)+6b-1)-13-12b\s\up8(2)=0 
 EQ 8b\s\up8(3)-8b\s\up8(3)+12b\s\up8(2)-6b+1-13-12b\s\up8(2)=0 
 EQ -6b-12=0 
 EQ -6b=12 
 EQ 6b=-12 
 EQ b=\b(-12):6 
 EQ b=-2 
 EQ \b(c+3)\s\up8(3)-c\b(c+5)\b(c-5)-9c\s\up8(2)=1 
 EQ \b(c+3)\s\up8(3)-c\b(c+5)\b(c-5)-9c\s\up8(2)-1=0 
 EQ \b(c\s\up8(3)+9c\s\up8(2)+27c+27)-c\b(c+5)\b(c-5)-9c\s\up8(2)-1=0 
 EQ \b(c\s\up8(3)+9c\s\up8(2)+27c+27)-\b(c\s\up8(2)+5c)\b(c-5)-9c\s\up8(2)-1=0 
 EQ \b(c\s\up8(3)+9c\s\up8(2)+27c+27)-\b(c\s\up8(3)-5c\s\up8(2)+5c\s\up8(2)-25c)-9c\s\up8(2)-1=0 
 EQ \b(c\s\up8(3)+9c\s\up8(2)+27c+27)-\b(c\s\up8(3)-25c)-9c\s\up8(2)-1=0 
 EQ c\s\up8(3)+9c\s\up8(2)+27c+27-c\s\up8(3)+25c-9c\s\up8(2)-1=0 
 EQ 52c+26=0 
 EQ 52c=-26 
 EQ c=\b(-26):52 
 EQ c=-0,5 
